— d2 T d2
M(tt) T (6 AV M(tt) Tty AN

[GeV] [fb GeV 2] [GeV] [fb GeV 2]
0 < pr(t,) <90GeV
300-360 0.737 +£ 0.009 =+ 0.069 580-680 0.242 + 0.003 =+ 0.017
360-430 1.424 + 0.009 =+ 0.084 680-800 0.1141 + 0.0019 + 0.0091
430-500 0.794 +£ 0.007 =+ 0.054 800-1000  0.0423 + 0.0011 =+ 0.0041
500-580 0.448 + 0.004 =+ 0.029 1000-2000 (414+ 023 +0.73) x10°3
90 < pr(t,) < 180GeV
300-360 0.0805 4+ 0.0021 = 0.0083 580680 0.451 + 0.004 -+ 0.028
360-430 0.757 £ 0.007 =+ 0.044 680-800 0.226 + 0.003 +0.016
430-500 1.195 + 0.008 =+ 0.079 800-1000  0.0895 & 0.0016 =+ 0.0064
500-580 0.832 + 0.006 =+ 0.053 1000-2000 87+ 03 +12)x1073
180 < pr(t,) < 270GeV
300-430 0.0194 4+ 0.0009 =+ 0.0045 680-800 0.179 + 0.003 =+ 0.012
430-500 0.1235 4+ 0.0027 = 0.0098 800-1000  0.0751 & 0.0014 =+ 0.0057
500-580 0.325 + 0.004 =+ 0.020 10001200  0.0260 + 0.0009 =+ 0.0027
580-680 0.320 + 0.004 =+ 0.022 1200-2000 (379+ 024 +0.62)x1073
270 < pr(t,) < 800GeV
300-430 42+ 05 +14)x10*  680-800 0.0170 4+ 0.0003 = 0.0011
430-500 (2.83+ 0.16 =+0.48)x1073 800-1000  0.01261 + 0.00021 + 0.00086
500-580 (5.18 £ 0.21 4 0.84) x10~3 1000-1200 (6.01+ 017 +0.48)x1073

580-680 0.01043 £ 0.00027 £ 0.00085 1200-2000 (1424 0.04 =+0.12)x1073



